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Question Number : 1 Question Id : 97103627919 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The acronym MOOCS stands for

Options :

1 » Modular Open Online Courses

, % Mass Online Offline Class

Multi-media Open Online Classes
3. %



Massive Open Online Courses
o

Question Number : 2 Question Id : 97103627920 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The idea of making students watch an education video at home and participate in discussion

during the class 1s known as

Options :

1 = Diverse class room

- Flipped class room

_— Multi-media class room

4w Google class room

Question Number : 3 Question Id : 97103627921 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The term ‘Zoom’ in the context of ICT refers to
Options :

Leamning Management System
1. %

5 % Flipped class room



Video conferencing tool
3.¢

Online data collection system

Question Number : 4 Question Id : 97103627922 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

One of the following 1s a popular method of feedback in ICT based learning
Options :

- WhatsApp web
5 % Dropbox
3 » Google Drive

Google form

Question Number : 5 Question Id : 97103627923 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A commonly used BYOD (Bring Your Own Device) in ICT supported learning process is

Options:

_— Laptop



Smartphone

5 » Interactive white board

. LCD projector

Question Number : 6 Question Id : 97103627924 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The method of dividing students mto small groups to learn patts of a topic s known as

Options :

_— Round-Robin method

) Numbered heads together

_ Think-pair-share method

=
4 o TiZsaw method

Question Number : 7 Question Id : 97103627925 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Microsoft Teams is one ICT tool that supports

Options:



Web-based shides

Real time communication and collaboration
2. %

3 x LMS

Remote Leaming

Question Number : 8 Question Id : 97103627926 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which platform is widely recognized as one of the first MOOC providers?

Options:

1« Coursera

> % Udemy

3 % Khan Academy

edX
4,

Question Number : 9 Question Id : 97103627927 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The system of securing academic credit through optional and elective courses

was made possible by
Options :

1« MOOCS
Semester System
2. %
3 v Choice Based Credit System

Distance Education
4. %

Question Number : 10 Question Id : 97103627928 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

One of the following types of questions cannot be easily auto-graded by LMS software.

Options :
True-false type questions

1. %

, » Subjective questions

53 » Multiple Choice questions

Matching type questions
4. %



Question Number : 11 Question Id : 97103627929 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
An example of data measured on nominal scale 1s
Options :
Actual age of a person
1. %

, « Body Weight

Gender
3. v

4 % Shoe length

Question Number : 12 Question Id : 97103627930 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Review of relevant literature 1s the vital step in the following stage of research
Options:

Data collection
1, %

Problem formulation stage
2.¢

Sampling design
3. %



Interpretation of results
4, %

Question Number : 13 Question Id : 97103627931 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following style is commonly used in thesis writing for

humanities ?

Options :

MLA style
1.+

, x APA style

IEEE style

Chicago style
4, %

Question Number : 14 Question Id : 97103627932 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

What 1s the expansion of the acronym APA in the style of references?
Options :

Associated Printers Architecture



American Psychological Association
2. %

Advanced Psychological Appendix

n Authenticated Publishing Act

Question Number : 15 Question Id : 97103627933 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Every published paper/article in a journal 1s expected to have completed the stage

Options :

Publisher’s review

1.

5 Editorial review
Public review

n Peer review

Question Number : 16 Question Id : 97103627934 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



The ‘bottom-up method’ approach in research 1s known as °

Options:

| » Inductive method

Hypothesis method

Pattern method
3, %

Interview method

Question Number : 17 Question Id : 97103627935 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The audio-visual communication among researchers across the globe using ICT s called
Options :

Web hosting
1. %

Podcasting
2. % <

Tele-conferencing
3. %

Telecasting



Question Number : 18 Question Id : 97103627936 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
One of the following 1s a powerful tool to seck content on a topic from internet resources

Options :

GPS

Alta Vista
F

ChatGPT
3. %

. Skype

Question Number : 19 Question Id : 97103627937 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The acronym CARE in UGC-CARE stands for

Options :

Commuittee on Academic Research Ethics
1, %

Consortium for Academic Research and Ethics
2.9

Consortium for Academic Regulatory Ethics
3. %



Core Academic Research Ethics

Question Number : 20 Question Id : 97103627938 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
By group discussion one can evaluate the ability of a participant to

Options :

Domuinate others

Control other participants

Confer with other participants
3. %

Lead over others

Is Section Default? : null

Question Id : 97103627939 Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (21 to 25)



Read the following passage and answer the questions below:

According to the World Health Organtzation cancer 15 the second leading cause of death
olobally. The cancer burden contimues to grow globally. However, survival rates are
tmproving with the help of advanced diagnosts and treatment, Regular screenings and early
etection are two main key factors that help mprove survival rates. "Lung, prostate,

colorectal, stomach and liver cancer are the most common types of cancer m men, while
breast, colorectal, lung, cervical and thyrotd cancer are the most common among women,'
mentions the WHO website. Tobacco use alone accounts for around one-third of deaths from
cancers. Other risk factors melude high body mass mdex, aleohol consumption, family
history, some health conditions, environment, mfections by certain viruses and more,
Common treatment options nelude surgery, chemotherapy, radiation therapy, bone marrow

transplant, targeted drug therapy and more,

Sub questions

Question Number : 21 Question Id : 97103627940 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Which among the following is not the treatment options for Cancer ?
Options :

1 » Chemotherapy

Radiation therapy

. »PRP



4 % Bone marrow TI‘E’II]SIJI‘EIIH

Question Number : 22 Question Id : 97103627941 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The Survival rate of cancer increases with
Options :

Stomach and live cancer

, Re gular screening and early detection

- Tobacco use

Infections by certain viruses

Question Number : 23 Question Id : 97103627942 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

One of the following is not commonly found cancer specific to women

Options :
Lung

1. %

, « Cervical



v Prostate

Colorectal

Question Number : 24 Question Id : 97103627943 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
The following 1s not known risk factor for cancer
Options :
High body mass index

1. %

High glucose levels
2. %

Alcohol consumption
3. %

Chewing tobacco

Question Number : 25 Question Id : 97103627944 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Common therapy to treat cancer includes

Options:



Physiotherapy

, % Laser therapy

Palliative care

y Chemotherapy

Is Section Default? : null

Question Number : 26 Question Id : 97103627945 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What is an element of evaluation in the Choice Based Credit System (CBCS)?

Options :

Continuous assessment
1.4

Multiple-choice questions

Final exams only
3. %

No grading system
4. %

Question Number : 27 Question Id : 97103627946 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
During lecturing the class room teacher shall be highly cognizant about
Options :
Fixed posture

1. %

Proximity

Frequent pausing
3, %

Voice modulation
4, &

Question Number : 28 Question Id : 97103627947 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

A majority of communication problems arise due to

Options :

y Poor oral communication
1 . "

Physical appearance

Facial expressions



Body language

Question Number : 29 Question Id : 97103627948 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The following is an example of non-verbal communication

Options:

Question paper

. Google form

SMS on mobile

Facial expression
4. &

Question Number : 30 Question Id : 97103627949 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

India’s largest public sector broadcasting agency is

Options :

Doordarshan
1, %



PTI

» Prasar Bharathi

TRAI

Question Number : 31 Question Id : 97103627950 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Among the options below. which one 1 not primarily used as a soctal networking platform

Options:

| « Dropbox

, . Reddit

4 w Pinterest

Question Number : 32 Question Id : 97103627951 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The process of creating knowledge by transforming experiences 1s known as

Options :



Abstraction

Conceptualization

Leaming
3. %

Experimentation
4. %

Question Number : 33 Question Id : 97103627952 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0
An assertive communication (either written or spoken) will be powerful

when it 1s given as

Options:

‘I" message
1.9

“We’ message
2. %

“You’ message

“They’ message
4, %



Question Number : 34 Question Id : 97103627953 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Two numbers are respectively 20% and 50% more than a third number.

The ratio of the two numbers 1s

Options :

4:5

Question Number : 35 Question Id : 97103627954 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The cost price of 25 articles 1s the same as the selling price of x articles. If the profit is 30%,

then the value of x 15

Options:

15

1.% =%

.
2.v 20



Question Number : 36 Question Id : 97103627955 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A fruit seller sold 40% of watermelons available with him and still left with 420 fruits. How

many fruits had he originally ?

Options :

588

1. %

600
E

Question Number : 37 Question Id : 97103627956 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Suppose the simple average of 20 numbers is zero. How many of these numbers

can be greater than zero?

Options :



10

19

Question Number : 38 Question Id : 97103627957 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A man purchased a cow for Rs. 3000 and sold it the same day for Rs. 3600, allowing the buyer

credit for 2 years. If the rate of interest 15 10% per annum, then the man has a gain of
Options :

0%

Question Number : 39 Question Id : 97103627958 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
An aeroplane covers a certain distance at a speed of 240 kmph in 5 hours. At what speed it
should travel in order to cover the same distance in 2 hours ?

Options :

300 Kmph

360 Kmph

720 Kmph

600 Kmph
4.

Question Number : 40 Question Id : 97103627959 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
What decimal of an hour 1s a second?
Options:

0.0025

1. %

0.0256

0.00027
3. ¢



0.0002

Question Number : 41 Question Id : 97103627960 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The process of drawing general conclusions from a set of specific observations 1s called
Options:

Inductive logic
1.

Analogy

Speculative logic

Evidence-based logic
4. %

Question Number : 42 Question Id : 97103627961 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Reasoning is an instrument whose purpose is to
Options :

- Spread knowledge



Live in imaginary world

Anticipate unknown things

Grasp the unknown from the known
4.

Question Number : 43 Question Id : 97103627962 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A statement that asserts all or some members of one category are included in the

other category is called

Options :

Speculative statement

Predictive statement

Categorical statement
3. ¢

Nomn-deniable statement

Question Number : 44 Question Id : 97103627963 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following table and answer the questions based on it.
Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

Ve [tem of Expenditure (in Rs. lakhs)

Salary | Fuel and Transport | Bonus | Interest on Loans | Taxes
1998 | 288 % 3.0 234 53
199 | 342 112 23] 32.5 108
2000 | 324 101 38 41.6 4
2001 | 336 133 3.68 364 88
2002 | 420 142 3.96 494 %

What is the average amount of interest per year which the company had
to pay during this period?

Options :

w3243

b
(b
-
-2

, 34.18

36.66

Question Number : 45 Question Id : 97103627964 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following table and answer the questions based on it.
Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

Ve [tem of Expenditure (in Rs. lakhs)

Salary | Fuel and Transport | Bonus | Interest on Loans | Taxes
1998 | 288 % 3.0 234 53
199 | 342 112 23] 32.5 108
2000 | 324 101 38 41.6 4
2001 | 336 133 3.68 364 88
2002 | 420 142 3.96 494 %

The total amount of bonus paid by the company during the given period is approximately

what percent of the total amount of salary paid during this period?

Options :

0.10

Question Number : 46 Question Id : 97103627965 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following table and answer the questions based on it.
Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

Ve [tem of Expenditure (in Rs. lakhs)

Salary | Fuel and Transport | Bonus | Interest on Loans | Taxes
1998 | 288 % 3.0 234 53
199 | 342 112 23] 32.5 108
2000 | 324 101 38 41.6 4
2001 | 336 133 3.68 364 88
2002 | 420 142 3.96 494 %

Total expenditure on all these items in 1998 was approximately what percent

of the total expenditure in 2002?

Options:

62

Question Number : 47 Question Id : 97103627966 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following table and answer the questions based on it.
Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

Ve [tem of Expenditure (in Rs. lakhs)

Salary | Fuel and Transport | Bonus | Interest on Loans | Taxes
1998 | 288 % 3.0 234 53
199 | 342 112 23] 32.5 108
2000 | 324 101 38 41.6 4
2001 | 336 133 3.68 364 88
2002 | 420 142 3.96 494 %

The total expenditure of the company over these items during the year 2000 is?
Options :
| ¢ 4444

, 4 S0L11

L 44646

 478.87

Question Number : 48 Question Id : 97103627967 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Study the following table and answer the questions based on it.
Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

Ve [tem of Expenditure (in Rs. lakhs)

Salary | Fuel and Transport | Bonus | Interest on Loans | Taxes
1998 | 288 % 3.0 234 53
199 | 342 112 23] 32.5 108
2000 | 324 101 38 41.6 4
2001 | 336 133 3.68 364 88
2002 | 420 142 3.96 494 %

The ratio between the total expenditure on Taxes for all the years and the total expenditure
on Fuel and Transport for all the years respectively is approximately?
Options :

4:7

Question Number : 49 Question Id : 97103627968 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



One of the following is not a search engine
Options :

Google
1.%

Yahoo
2. %

v One-drive

Bing

Question Number : 50 Question Id : 97103627969 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
The standard protocol for internet 1s
Options :

Java

HTML
“

FITP

TCP/IP



Question Number : 51 Question Id : 97103627970 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A popular term related to the design of a digital learning environment is

Options:

LMS

E-kalpa
v

E-commerce
3. %

.. E-tendering

Question Number : 52 Question Id : 97103627971 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
The Government of India created an initiative to encourage scientific temper among
students, known as ATL. whose full expansion is
Options :
Atal Technology Lab

Atal Tinkering Lab
2.¢



.. Applied Techno Lab

4 % Applied Technology Lab

Question Number : 53 Question Id : 97103627972 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
One of the following i1s a web browser
Options :
Microsoft Windows

1. %

Google Drive

Google Chrome
3.9

HTML

Question Number : 54 Question Id : 97103627973 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Online courses through NPTEL platform are offered by

Options :

NITs



ITPA

~ IIMs
3. %

Jomtly IITs and IISc
4, &

Question Number : 55 Question Id : 97103627974 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The chief objective of the PARAM Shavak of the Government of India 1s to provide

Options :

MOOCs in all subjects

1. %

Database of theses and dissertations

Affordable supercomputing facilities for research
3.¢

. Knowledge base for start-ups

Question Number : 56 Question Id : 97103627975 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The movement of topsoil and litter from one place to another 1s known as



Options :

1 Soil erosion

Soil submersion

Soil pollution
3. %

4 % Soil pulling

Question Number : 57 Question Id : 97103627976 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The hearing sensitivity of human ear is
Options :
3-6 kHz
2-5kHz

10-50 kHz

50-100 kHz

Question Number : 58 Question Id : 97103627977 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The organic material in solid waste 1s decomposed by
Options :

Soil particles

- Oxidation

Flow of water
3, %

4 The action of microorganisms

Question Number : 59 Question Id : 97103627978 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The oldest commonly followed method to dump solid waste 1s

Options :

Landfill

1.+

Burning

5« Raver flow

Drying in open air



Question Number : 60 Question Id : 97103627979 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The harmful pollutant released by petrol/diesel vehicles 1s

Options :

Carbon Dioxide

Ozone

Carbon Monoxide
3. %

Nitrogen Oxide
4. %

Question Number : 61 Question Id : 97103627980 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

One of the following is not a result of global warming

Options:

Melting glaciers

Population growth
2. ¢

5 » Raising sea levels



Heat waves

Question Number : 62 Question Id : 97103627981 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which of the following is mostly responsible to global warming?

Options :

Deforestation

Erosion of sea coasts

Fossil fuel combustion
3. %

Agriculture
4. ®

Question Number : 63 Question Id : 97103627982 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Sort the following countries in the decreasing order of carbon dioxide emissions
A North America
B. Affica
C. Europe
D. Asia
Options :

DBCA

1. %

ADCB

DACB
3.

BADC

Question Number : 64 Question Id : 97103627983 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The international agreement on reducing greenhouse emissions, 1s known as

Options :
NATO

COP 21 agreement
2. %



Convention on Biological Diversity
3.9

Montreal agreement

Question Number : 65 Question Id : 97103627984 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The Montreal Protocol on ozone layer protection came into effect in the year

Options :

. 1989

1998

1978

1987

Question Number : 66 Question Id : 97103627985 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

The first earth summit on biological diversity was held in

Options :



India

L« USA

South Africa
3,

Brazil
4.

Question Number : 67 Question Id : 97103627986 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following is a conventional learning programme in India?
Options :

- Yoga

Agriculture
2. ¥

Journalism
3, %

Artificial Intelligence
4. %

Question Number : 68 Question Id : 97103627987 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The 24-hour educational programme launched in 2020 and telecast in India is termed as

Options :

Gyan Darshan
1.9

NPTEL

~ SASTRA
3. F

 SWAYAM
4. %

Question Number : 69 Question Id : 97103627988 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The quality of Technical and Management education in India is monitored by

Options :

.« ICMR

NAAC

UGC



AICTE

Question Number : 70 Question Id : 97103627989 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The Medical Council of India is recently renamed as

Options :

Indian Medical Association

1. %

ICMR
2_ F
3 @ National Medical Commission

Pharmacy Council of India
4, %

INTERNATIONAL AND AREA STUDIES

Section Id : 971036398
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 70
Section Marks : 70

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Maximum Instruction Time: 0

Is Section Default? : null

Question Number : 71 Question Id : 97103627990 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following 1s the central critique raised by the critical theorists about

mainstream IR theory?

Options :

1 % Ignoring the economic benefits of globalization.

5 % Not adequately factoring the role of international institutions.

3 Downplaying the 1ideological dimensions of state power.

Overemphasizing the conflict dimension of geopolitics.

Question Number : 72 Question Id : 97103627991 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

International Relations 1s comparatively  discipline

Options :

1« New

, » Old

3 % Ancient



4 % Medieval

Question Number : 73 Question Id : 97103627992 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following scholars is most closely associated with applying and

expanding on Marxist analysis to study imperialism and conflicts in the Third World?

Options :

1 % Stephen Krasner

5 % Robert Keohane

3 ¢ Andre Gunder Frank

4. % Hedley Bull

Question Number : 74 Question Id : 97103627993 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match the mternational relation theories (list-I) and their important proponents (list-II)

and select the correct answer from the codes given below.

List I (Proponents) List IT (Theories)

A. Realism 1. Robert Cox

B. Neo-Realism 2. Christine Sylvester
C. Feminism 3. Hans Morgenthau

D. Critical Theory 4. Kenneth Waltz



Options :

A-2, B-3. C-4. D-1

2 « A-3.B-4, C-2, D-1
A-4. B-1. C-3.D-2

4 x A-4,B-2,C-1,D-3

Question Number : 75 Question Id : 97103627994 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Democratic Peace Theory 1s placed under which theoretical approach of international

relations?
Options :

1 % Neo-Realism

P Institutional Liberalism

Structural Realism

4% Republican Realism

Question Number : 76 Question Id : 97103627995 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0

Choose the correct answer:
Assertion (A): Balance of power results in status quo i world politics.

Reason (R): States are primary actors in international relations.
Options :

1 ¢ Both (A) and (R) are true. and (R) 1s the correct explanation of (A)

5 % Both (A) and (R) are true. and (R) 1s not the correct explanation of (A)

3 % (A)Is true but (R) s false

4 % (A) 1s false but (R) 1s true

Question Number : 77 Question Id : 97103627996 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The original membership of the League of Nations was

Options :

1. % 40

2.$3 4].

3.v 42



Question Number : 78 Question Id : 97103627997 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Which mternational tribunal has the right to prosecute mdividuals for war crimes and
crimes against humanity?

Options :
| % United Nations Investigation Agency

2 % United Nations Prosecution Council

3 International Criminal Court

4 % International Court of Justice

Question Number : 79 Question Id : 97103627998 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which of the following accounts for the advent of the general system theory?

Options :
1 % World War II
Communication Revolution

2. %

3  Behavioural Revolution

4 % World War I



Question Number : 80 Question Id : 97103627999 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0
Which of the following statements are true about soft power?
1) Soft power can be used by state actors.
2) Soft power can be used by non-state actors.
3) Soft power 1s the second face of power.
4) Soft power is a form of idealism.
Select the correct answer:
Options:

1 % 1,2and4

> % 2.3and 4

3w l.2and3

4 % 3.4 and 1

Question Number : 81 Question Id : 97103628000 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following countries 1s not a member of ASEAN?

Options :

1. # Laos



, % Cambodia

3 % Vietnam

4.« North Korea

Question Number : 82 Question Id : 97103628001 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following Articles of the Charter of United Nations Organisation are

related to regional organisation?
1)  Article 51
2)  Article 52
3)  Article 53
4)  Article 54

Select the correct answer:
Options :

1 v 2.3and4

1.3and 4

3% 1,2 and 4

4 % 1l.2and3



Question Number : 83 Question Id : 97103628002 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following is not the basic function of WTO?

Options :

To facilitate the implementation, administration. and operation of trade

1 % agreements

5 % To settle differences and disputes among its member countries

3 To facilitate the expansion and balanced growth of international trade

4w To carry out periodic reviews of the trade policies of its member countries

Question Number : 84 Question Id : 97103628003 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Match List-I with List-IT and select the correct answer:

LIST -1 LIST-1I
(Regional Organisations) (Regions)
A. OSCE 1. EUROPE
B. V4 2. EURASIA
C. BSEC 3. EURO-ATLANTIC
D. NAFTA 4. NORTH AMERICA

Options :

1.« A-3.B-1,C-2,D-4



, % A-4,B-3,C-2,D-1

5 % A-1,B-2,C-3,D-4

4 % A2,B-1,C-4,D3

Question Number : 85 Question Id : 97103628004 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The demand for New International Economic Order was first made at

Options :

| % Tehran Summut

5> % Durban Summit

3 % Kuala Lumpur Summit

4 Algiers Summit

Question Number : 86 Question Id : 97103628005 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Security Council has  non-permanent members.

Options :

1'Q,III]



Question Number : 87 Question Id : 97103628006 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

A unipolar condition to which George W. Bush Ir. referred as a balance of power that

favours

Options :

1 = Security

Cooperation

Peace

4 Freedom

Question Number : 88 Question Id : 97103628007 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following pairs 1s mismatched?

Options :



- World of Global Security — World Community or Human Kind

5> « Societal Security — Societal Needs
3 % Economic Security — Welfare

. Environmental Security — Resources

Question Number : 89 Question Id : 97103628008 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

WTO i1s serving as the successor to which of the following organisations

Options :

| @ General Agreement on Trade and Tariff

, % General Arrangement on Trade and Tariff

5 » World Health Organisation

4 % UN Development Programme

Question Number : 90 Question Id : 97103628009 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Erich Kaufinan wrote in a book that the essence of the State was



Options :

1 % Development of Power
> % Maintenance of Power

5« Display of Power

4V All the above

Question Number : 91 Question Id : 97103628010 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Who among the following thinkers stated that “Non-alignment 1s the third bloc™?

Options :

1. % J.L.Nehru
> « H. Kissinger

3 % M. Breacher

4 % K. P. Mishra

Question Number : 92 Question Id : 97103628011 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



Which one of the following strategic theories was propounded by Karlvon Clausewitz?

Options :

1. Push to the Utmost

, % Expending Torrents

5« Strategic Paralysis

Massive Retaliation

Question Number : 93 Question Id : 97103628012 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Who among the following, defined war as “organized violence carried on by political

unit agamst each other™

Options :

1« Hedley Bull

, w Quincy Wright

_ Carl Von Clausewitz

4 % Raymond Aron

Question Number : 94 Question Id : 97103628013 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0
Re-unification of Crimea with the Russian federation occurred in the year

Options :

| v 2014

. 2012

4 % 2011

Question Number : 95 Question Id : 97103628014 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following is the core principle of Non-alignment?

Options:

1 » Keep away from international affairs

5 % Keep away from the activities of international organisation

3 % Avoidance of economic alliance

4 Not to be part of any mulitary alliance



Question Number : 96 Question Id : 97103628015 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following 1s Forum for G-77 Summit?

Options :
| % North — South Cooperation

5 South — South Cooperation

3 % East—West Cooperation

4 % North — North Cooperation

Question Number : 97 Question Id : 97103628016 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Who among the following leaders was associated with the term “Long March’?

Options :

1 % Vladamir Ulyanova Lenin

5 % Mahatima Gandhi

3.« Mao Tse —Tung

4 % Subash Chandra Bose



Question Number : 98 Question Id : 97103628017 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following plans was associated with Reconstruction of Europe?

Options :

1. % Baruch Plan

5 % Truman Plan

3 % German Plan

4 Marshal Plan

Question Number : 99 Question Id : 97103628018 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which one of the following countries was not involved in negotiating the Washington

Naval Treaty of 1922 ?

Options :

| w The United States

5 % Japan

3 % United Kingdom



» Germany

Question Number : 100 Question Id : 97103628019 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Who amongst the following authorities argued that “Nuclear weapons provide the glue

that has held the Western alliance together™?
Options :

1 » Henry Kissinger

'|' 2 i) -
5  James Schlesingei

5 « Bill Clinton

4% George P. Shultz

Question Number : 101 Question Id : 97103628020 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The Gwadar port in Pakistan has been leased to China for a period of

Options :

1 = 45 Years

46 Years



3 ¥ 40 Years

50 Years

Question Number : 102 Question Id : 97103628021 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Who among the following authors referred to environmental threats as “Threat without

enemies”?

Options:

_— Barry Buzan

, % Simon Dalby

3 ¢ Gwyn Prins

4 % Jessica Mathews

Question Number : 103 Question Id : 97103628022 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time: 0
Who amongst the following thinkers propounded the concept of “Perpetual Peace™?

Options :

1+ Immanuel Kant



> » M.K. Gandhi

5 % Johan Galtung

Mother Teresa

Question Number : 104 Question Id : 97103628023 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

“Freedom from fear and freedom from want™ are related with which one of the

following:

Options :

1 » [Economic security

Technological interdependence

3 » Detente

4. Human security

Question Number : 105 Question Id : 97103628024 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 1s the name of the border line between Pakistan and Afghanistan?

Options :



1% 17 parallel

Durand Line

49 Parallel

4 % Curzon Line

Question Number : 106 Question Id : 97103628025 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Who coined the phrase global village?

Options :

_ Francis Fukvama
1. %

5 Marshall McLuhan

3 % James Mill

4 % Pulitzer

Question Number : 107 Question Id : 97103628026 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

The Intermediate-Range Nuclear Forces Treaty is signed between?



Options :

1 % India and Pakistan

> United States and USSR

3 » Iran and Iraq

4 % Israel and Palestine

Question Number : 108 Question Id : 97103628027 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which are the Headquarters of the United Nations Economic and Social Council

(ECOSOC)?

Options :
- Geneva and New York

5 % Washington and Oslo

3 % New York and Paris

4« Paris and Geneva

Question Number : 109 Question Id : 97103628028 Display Question Number : Yes Is Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction



Time:0
How many member countries are there in European Union?

Options :

| % 29

Question Number : 110 Question Id : 97103628029 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Simon Kuznets 1s associated with which concept?
Options:

. » HDI

> « GDP

GNH

NNP

Question Number : 111 Question Id : 97103628030 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which IR Approach considers the state to be the best source of security for individuals?

Options :

1 « Realism

, w Liberalism

3. ® Marxism

4w Critical Theory

Question Number : 112 Question Id : 97103628031 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Soft power 1s

Options :

| % Weakening hegemonic influence

, « Collaboration among several emerging powers

3 Getting others to agree with you without using coercive force

4% The influence of financial institutions and markets



Question Number : 113 Question Id : 97103628032 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which historical diplomatic treaty is often applied to characterise the present

international political system?
Options :

. Congress of Vienna 1815
1.

5 % Versailles Treaty 1919

. Charter of Paris 1990

» Treaty of Westphalia 1648

Question Number : 114 Question Id : 97103628033 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Game of Chicken. 1s a concept in

Options :

1 » Game Theory

5> % Behaviouralism

3 % Positivism

4 % Neo Marxism



Question Number : 115 Question Id : 97103628034 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Who coined the term 'Hindu rate of growth’?

Options :

P Prof Raj Krishna

5 % Shri1 Dadabai Naoroji

3 % Shr1 Vivekananda

4 = Shri Aurobindo

Question Number : 116 Question Id : 97103628035 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of the following has not signed the Nuclear Non-proliferation Treaty?

Options :

_— Denmark

5 % Japan

3 @ India



4 = Guatemala

Question Number : 117 Question Id : 97103628036 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Terrorism can be defined as

Options :

The use of violence. or the threat of it. in service of a broadly political or

religious aim

The use of violence by one state against another

3 % Indirect justice
. Acts, violence committed by governments

Question Number : 118 Question Id : 97103628037 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What is the newest nation in Southeast Asia?

Options :

| % Brunei

> % Laos



Timor Leste
v

4 % Singapore

Question Number : 119 Question Id : 97103628038 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Globalisation affects International Relations by

Options :

- Increasing the importance of borders between countries

5 Reducing the importance of borders between countries

Increasing migration between countries
3. % Al

4w Reducing migration between countries

Question Number : 120 Question Id : 97103628039 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Diplomacy 1s

Options :

. About the use of force



» About the use of persuasion

., About the use of not listening to others’ concerns

4% About being sent abroad to lie for the good of one’s country

Question Number : 121 Question Id : 97103628040 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of these 1s the world’s oldest Intergovernmental Organisation?

Options :
| @ Rhine Commission

, » UNESCO

3 » International Postal Union

. The League of Nations
4,

Question Number : 122 Question Id : 97103628041 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What 1s the MISA law related to?

Options :



., Foreign Policy

,, Defense of the country

3 % Foreign nationals

v Internal security

Question Number : 123 Question Id : 97103628042 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

What 1s the name of the First Indian woman who wins the Man Booker Prize?

Options :

1 % Indira Sinha

> Amndhati Roy

Anita Desai

4 % Kiran Desail

Question Number : 124 Question Id : 97103628043 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Which one of the following is the world’s biggest archipelago?



Options :
1 % Island of Andaman and Nicobar

, % Malaysia

3 Indonesia

4. % Maldives

Question Number : 125 Question Id : 97103628044 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

What type of weapons are WMDs?

Options :

1 % Small Arms and Light Weapons that can be carried by an individual

> o Chemical. biological and Nuclear explosive devices

Surface to Air Missiles

4.« Ballistic Missiles when they are not carrying a warhead

Question Number : 126 Question Id : 97103628045 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0



In December 2022, which country took over G20 Presidency?

Options :

1 % Germany

5 % Austria

3 » Netherlands

India

Question Number : 127 Question Id : 97103628046 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

From the constitution of which country India has borrowed the idea of the concurrent

list 1n the Indian Constitution?

Options :
1 % USA

, » UK

3 v Australia

4 « Canada

Question Number : 128 Question Id : 97103628047 Display Question Number : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Which of these 1s not an official source of Public International Law?

Options :

1 = Custom

, » International treaties

3 ¢ Verdicts of the International Criminal Court (ICC)

n The opinions of international legal experts

Question Number : 129 Question Id : 97103628048 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

International Relations during 1648—1945 were characterized by
Options :

| % Bi-polar system

v Multi-polar system

3 % Uni-polar system

4 % Tri—polar system



Question Number : 130 Question Id : 97103628049 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

"Politics Among Nations" was written by

Options :

1 » K.J. Holsti

, % Gavin Boyd

3 ¥ Hans Morgenthau

4 % Henry Kissinger

Question Number : 131 Question Id : 97103628050 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The headquarter of Asian Development Bank (ADB) is located in

Options :

1 « DBangkok

, % Manila

3 % Singapore

4 % New York



Question Number : 132 Question Id : 97103628051 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Territorial waters traditionally are recognized to extend how far from a state’s

coastline?

Options :
1 % 3miles

. 10 mules

% e
3_\_{‘,1_11111&:,

4 % 15 miles

Question Number : 133 Question Id : 97103628052 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

An organization whose members are from national governments is a

Options:

- Nongovernmental Organization (NGO)

) Intergovernmental Organization (IGO)

3 % World Transnational Organization (WTO)



« United Nations

Question Number : 134 Question Id : 97103628053 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Article 55 of the UN Charter promotes international

Options :

1 » Peace

5> « Human Rights

5« Security

4 » Education

Question Number : 135 Question Id : 97103628054 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The Non-Aligned Movement was created in

Options :

. = 1918

, % 1945

3 v 1955



2001

Question Number : 136 Question Id : 97103628055 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The 1dea of SAARC originated in the mind of

Options :

Zia-ul-Haq

1. %

5 @ Z1a ur Rehman

5 % Rajiv Gandhi

4 = Indira Gandhi

Question Number : 137 Question Id : 97103628056 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

Palestinian uprising against Israeli occupation is named

Options :

1 ¢ Intifada

5 w Jihad

3 % Mufti



4% Fedayeen

Question Number : 138 Question Id : 97103628057 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Little Red Book 1s associated with

Options :

. Autobiography of Karl Marx

5 % Quotations of Lenin

3 @ Quotations of Mao Tse-tung

4 % Commumnist Guide book

Question Number : 139 Question Id : 97103628058 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time:0

The Colonies in Indo-China gained independence from

Options :

1 ¢ France

> % Great Britain



3. % China

4 % Portugal

Question Number : 140 Question Id : 97103628059 Display Question Number : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Who is the Chairperson of the Niti Aayog?

Options :

President of India

1. %

Minister of Finance

3  Prime Minister

4 % Minister of Planning and Development



